03 01 07

G )

4,405 | 4,405 | o | o |

R2

R4

R6

15m

80

89

89

0000611289




R02 |R03 [R04 [ROS5 [RO6

A01-001 110m 1 LI B 550
A01-002 188m 1 LI B 700
A01-003 75m 1 "= 350
A01-004 73m 1 LI B 100
A01-005 64m 1 LI B 100
A01-006 1 "= 60

0000611289




R02 |R03 [R04 [ROS5 [RO6

A01-007 1 "= 60
A01-008 1 "= 60
A01-009 1 "= 60
A01-010 30m 1 "= 150
A01-011 2Im 1 "= 150
A01-012 28m 1 "= 150

0000611289




R02 |R03 [R04 [ROS5 [RO6

A01-013 21 1 ] 80
A01-014 36.9 1 ] 19
A01-015 36.9 1 ] 19
A01-016 115 1 ] 19
A01-017 115 1 ] 20
A01-018 5 1 ] 458

0000611289




R02 |R03 [R04 [ROS5 [RO6

A01-019 56 ] 460
A01-020 27.2 ] 21
A01-021 40.1 ] 31
A01-022 250 ] 195
A01-023 30 ] 24
A01-024 49.8 ] 39

0000611289




R02 |R03 [R04 [ROS5 [RO6

A01-025 149.8 1 ] 184

A01-027 251.8 1 ] 309
I Y
I I Y

0000611289




R02 RO3 RO4 RO5
@) 208 100 45 133

) 0 0 0 0

(c=a+h) 208 100 45 133
(@ 0 208 100 45

®) 0 208 100 45

) 208 100 45 133

139 0 15 133

(h = ct+d-e-f) 0 0 0 0
(i = (g+h)/(c+d)) 66.82 0 10.34 74.71
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0000611289



